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Exchange Rates

↭ Real exchange rate:

ω = P
P→/E = EP

P→ = Price domestic goods
Price foreign goods

↭ Uncovered interest rate parity:

(1 + it)
︸ ︷︷ ︸

return on domestic bonds

= (1 + i→
t ) · Et

E e
t+1︸ ︷︷ ︸

return on foreign bonds

it → i→
t ↑

E e
t+1 ↑ Et

Et︸ ︷︷ ︸
expected domestic

currency appreciation

↭ Demand for goods in an open economy:

Z ↓ C + I + G + X ↑ IM/ω
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Lecture Recap

Marshall-Lerner Condition

↭ Marshall-Lerner condition:

NX (ω) ↓ X (Y →, ω) ↑ IM(Y , ω)/ω NX ↔ as ω ↗

↭ As ω →, X(Y →, ω) ↑ and IM(Y , ω) → (substitution e!ect).
↭ As ω →, denominator IM(Y , ω)/ω → (valuation e!ect).

↭ Net exports (NX) satisfy the Marshall-Lerner condition if NX (ω) is decreasing in ω.
↭ This condition implies that the substitution e!ect dominates the valuation e!ect.



Lecture Recap

Marshall-Lerner Condition

↭ Marshall-Lerner condition:

NX (ω) ↓ X (Y →, ω) ↑ IM(Y , ω)/ω NX ↔ as ω ↗

↭ As ω →, X(Y →, ω) ↑ and IM(Y , ω) → (substitution e!ect).

↭ As ω →, denominator IM(Y , ω)/ω → (valuation e!ect).
↭ Net exports (NX) satisfy the Marshall-Lerner condition if NX (ω) is decreasing in ω.
↭ This condition implies that the substitution e!ect dominates the valuation e!ect.



Lecture Recap

Marshall-Lerner Condition

↭ Marshall-Lerner condition:

NX (ω) ↓ X (Y →, ω) ↑ IM(Y , ω)/ω NX ↔ as ω ↗

↭ As ω →, X(Y →, ω) ↑ and IM(Y , ω) → (substitution e!ect).
↭ As ω →, denominator IM(Y , ω)/ω → (valuation e!ect).

↭ Net exports (NX) satisfy the Marshall-Lerner condition if NX (ω) is decreasing in ω.
↭ This condition implies that the substitution e!ect dominates the valuation e!ect.



Lecture Recap

Marshall-Lerner Condition

↭ Marshall-Lerner condition:

NX (ω) ↓ X (Y →, ω) ↑ IM(Y , ω)/ω NX ↔ as ω ↗

↭ As ω →, X(Y →, ω) ↑ and IM(Y , ω) → (substitution e!ect).
↭ As ω →, denominator IM(Y , ω)/ω → (valuation e!ect).

↭ Net exports (NX) satisfy the Marshall-Lerner condition if NX (ω) is decreasing in ω.

↭ This condition implies that the substitution e!ect dominates the valuation e!ect.



Lecture Recap

Marshall-Lerner Condition

↭ Marshall-Lerner condition:

NX (ω) ↓ X (Y →, ω) ↑ IM(Y , ω)/ω NX ↔ as ω ↗

↭ As ω →, X(Y →, ω) ↑ and IM(Y , ω) → (substitution e!ect).
↭ As ω →, denominator IM(Y , ω)/ω → (valuation e!ect).

↭ Net exports (NX) satisfy the Marshall-Lerner condition if NX (ω) is decreasing in ω.
↭ This condition implies that the substitution e!ect dominates the valuation e!ect.



Lecture Recap
(Mundell-Fleming Model)



Lecture Recap

Mundell-Fleming Model

↭ Under zero inflation and equal domestic and foreign price levels P = P→ ↘ E = ω,
Y = C(Y , T ) + I(Y , i) + G + NX (Y , Y →, E )

↭ If future exchange rate is Ē e , then

i = (1 + i→)
Ē e E ↑ 1 E = 1 + i

1 + i→ Ē e

↭ Open-economy IS curve:

Y = C(Y , T ) + I(Y , i) + G + NX
(

Y , Y →, 1 + i
1 + i→ Ē e

)

↭ LM curve: i = ī (real money supply adjust to clear money market M/P = YL(i)).
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